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QUESTION 1

in which scenario is a full proxy TCP connection required? 

A. when compression is actuated 

B. When Source NAT configured 

C. when a virtual server is configured 

D. When Source IP persistence is required 

Correct Answer: A 

https//devcentral f5 com/articles/the-full-proxy-data-center-architecture 

 

QUESTION 2

Which dynamic load balancing mode affects load balancing decisions based on path metrics? 

A. Packet Rate 

B. Completion Rate 

C. Least Connections 

D. Virtual Server Capacity 

Correct Answer: B 

 

QUESTION 3

Which device type in the topology will forward network packets without an OSI layer 3 address assigned to a data plane
interface? 
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A. Router 

B. Firewall 

C. Application Server 

D. Switch 

Correct Answer: D 

 

QUESTION 4

You have a pool of servers that need to be tested. All of the servers but one should be tested every 10 seconds, but one
is slower and should only be tested every 20 seconds. How do you proceed? 

A. It cannot be done. All monitors test every five seconds. 

B. It can be done, but will require assigning monitors to each pool member. 

C. It cannot be done. All of the members of a pool must be tested at the same frequency. 

D. It can be done by assigning one monitor to the pool and a different monitor to the slower pool member. 

Correct Answer: D 

 

 

QUESTION 5

The BIG IP device is connected to the same network as a server 

Which communication protocol will the BIG IP device use to discover the link layer address of the server? 

A. Ping 

B. ICMP 

C. RARP 

D. ARP 

Correct Answer: D 
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